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P3.1 

P3.1. Determine the reactions for the structure.
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P3.2 

P3.2. Determine the reactions for the structure.
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P3.6

P3.6. Determine the reactions for the structure.
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P3.8. Determine the reactions at all supports and 

the force transmitted through the hinge at B. 
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Freebody Diagram Right of Hinge D: 
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Freebody Diagram Left of Hinge: 
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P3.10 

P3.10. Determine the reactions for the structure. 

All dimensions are measured from the 

centerlines of members. 
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Figure (a): 
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Figure (b): 
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P3.14 

P3.14. Determine the reactions at all supports 

and the force transmitted through the hinge at C. 

6 m

Dy

D

Ey

Ex
E

Cy

Ay

A B C C

4 m 4 m 8 m

2 kN/m

30 kN-m

15 kN-m
40 N

2 m

Cy

Cx

 
 Figure (a) Figure (b) 



 

3-27 

Copyright © 2018 McGraw-Hill Education. All rights reserved.  
No reproduction or distribution without the prior written consent of McGraw-Hill Education. 

 

 

Figure (b):  
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Figure (a): 
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Figure (c): 
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P3.26 

P3.26. Compute the reactions at supports A, E, 

and F. 




